VENDOR NAME/ADDRESS

NASSAU COUNTY BOARD OF COUNTY COMMISSIONERS

96135 Nassau Place Suite 1 Yulee FL 32097

гауе,		Ol	L	_
DEDA	DEMENT			A STATE OF
DEPA	KUIVENII			Store
FIDE	DESCHE			

TEN-8 FIRE & SAFETY
2904 59TH AVENUE DRIVE EAST

ADENTON, FL 34203	F	REQUISITION		SCOTT TITTLE
		ES-003		REQUESTED BY:
NDORNUMBER PURCHASE ORDER NUMBER PURC	HASEORD	DERIDAJE PUR	GHASE ORDER TO	DTAL DISCOUNT TIERN
WI			\$879,056.34	
DESCRIPTION	-QITY	UNIT PRICE	AMOUNT	FUND ACCOUNT NUMBE
MSA AIR PACKS AND BOTTLES			\$879,056.34	04223522-564002
SEE ATTACHED QUOTE # Q204898				
,		•		
4.3 PIGGYBACKING				
LAKE COUNTY CONTRACT #17-0606L EXP, 6/30/2022				
			•	
			1	

SIGNATURE

County Manager - I certify that, to the best of my knowledge, the appropriate staff have reviewed and approved this Requisition and no other conditions would prevent aproval.

SIGNATURE

DATE



IN SERVICE TO SERVE YOU TEN-8 FIRE & SAFETY, LLC 2904 59TH AVENUE DRIVE EAST BRADENTON, FL 34203

Phone: 800-228-8368 Fax: 941-756-2598

Sell To:

Item No.

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097

Payment Terms:

Due Upon Receipt of **Product Or Service**

Description

Sales Quote

Page:

Sales Quote Number:

Q204898

Sales Quote Date:

10/5/2021

Customer ID

NASSAU

SalesPerson

Mitchell Wilkerson mwilkerson@ten8fire.com

Email:

Ten-8 Contact Email:

Mitchel Wilkerson

mwilkerson@Ten8fire.com

Ship To:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097

Ship Via:

Quantity **Selling Pric** PLEASE NOTE THE FOLLOWING PRICING IS BASED

Unit

ON A LARGE CONSORTIUM ORDER WITH MULTIPLE AGENCIES.

THIS PRICING WILL BE VALID FROM NOW UNTIL OCT 31ST 2021. IF MORE TIME IS NEEDED A LETTER OF

INTENT

WILL NEED TO BE PROVIDED

MSA-G1-SCBA, ATO#AG1FS444MD2Q2LER THAT

MEET AND EXCEEDS THE LATEST NFPA, LESS

CYLINDER AND

FACEPIECE AND INCLUDING THE FOLLOWING, 4500 PSI SYSTEM PRESSURE, QUICK CONNECT CYLINDER CONNECTION

, SHOULDER STRAPS WITH SERVICEABLE TUNNELS ,METAL CYLINDER RETENTION BAND, SOLID COVER ON

SECOND STAGE REGULATOR, QUICKCONNECT SECOND STAGE REGULATOR HOSE, PASS ON RIGHT

SHOULDER WITH ITIC,

RECHARGEABLE BATTERY, INTERGRATED VOICE AMPLIFICATION AND HEADS-UP-DISPLAY (HUD) EXTENDAIRE II BUDDY BREATHE SWIVILING LUMBAR

PAD

LIST PRICE \$10,845 **************** EACH

94

6,139.96

577,156.24

Total Price



IN SERVICE TO SERVE YOU TEN-8 FIRE & SAFETY, LLC 2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203 Phone: 800-228-8368 Fax: 941-756-2598

Sales Quote

Page:

Sales Quote Number:

Q204898

Sales Quote Date:

10/5/2021

Customer ID

NASSAU

SalesPerson

Mitchell Wilkerson mwilkerson@ten8fire.com

Email: Ten-8 Contact

Mitchel Wilkerson

Email:

mwilkerson@Ten8fire.com

Sell To:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097

Ship To:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097

Payment Terms:

Due Upon Receipt of

Product Or Service

Ship Via:

Item No.	Description	Unit	Quantity	Selling Pric	Total Price
MSA-10158385	G1 Lithium Ion Battery charger station DESKTOP 115V LIST PRICE \$843.26 THIS WOULD ALLOW FOR ONE CHARGER AT EACH STATION WITH ONE RESERVE.	EACH	11	509.90	5,608.90
MSA-10148741-SP	Battery Pack, G1, Rechargeable LIST PRICE \$435.37 THIS WOULD GIVE YOU A TOTAL OF 104 RECHARGEABLE BATTERIES. 1 BATTERY INCLUDED WITH EACH SCBA AT NO CHARGE TO CUSTOMER. ALSO ONE SPARE BATTERY PER STATION.	EACH	16	263.25	4,212.00
	MSA-G1-FACEPIEC, SIZE TO BE DETERMINED. LIST PRICE \$478	EACH	150	268.15	40,222.50
MSA-10175708	45 MIN LOW PRO OPTION CYL,G1 LP RC,4500 PSIG, 45MINS W/QC LIST: \$1703.78	EACH	188	902.00	169,576.00
MSA-10169711	G1 RIT System HP,Cyl Conn Q-D, mask,Regulator 6-ft. Quick-Fill & Ext II System, Gauge, URC. LIST PRICE \$5,579,26	EACH	11	3,413.20	37,545.20
TRU-RBL303	L3 LITE-SPEED RIT BAG (RED)	EACH	11	263.01	2,893.11
MSA-10175710	CYL,G1 RC,4500 PSIG, 60 MINS W/QC LIST PRICE \$2094.66	EACH	11	1,108.94	12,198.34

This Quote is valid until 11/30/21

All returns must be initiated within 30 days of receipt of product and will be charged a restocking fee. Contact your sales representative to receive a Return Materials Authorization (RMA). Special order parts are not returnable. Full terms and conditions for returns can be found on our website at www.ten8fire.com/returns.



IN SERVICE TO SERVE YOU TEN-8 FIRE & SAFETY, LLC 2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203 Phone: 800-228-8368 Fax: 941-756-2598

Sell To:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097 **Sales Quote**

Page: 3

Sales Quote Number: Q204898 Sales Quote Date: 10/5/2021

Customer ID NASSAU
SalesPerson Mitchell Wilkerson
Email: mwilkerson@ten8fire.com
Ten-8 Contact Mitchel Wilkerson
Email: mwilkerson@Ten8fire.com

Ship To:

Ship Via:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097

Payment Terms : Due Upon Receipt of

Product Or Service

Item No. Description Unit Quantity **Selling Pric Total Price** MSA-10144230 G1 FACEPIECE SPECTACLE KIT **EACH** 12 110.10 1,321.20 *************** MSA-10162403 Adapter Assy, QC to 1/4 NPT F, 5000 psig **EACH** 12 360,10 4,321.20 PREMAIRE CADET ESCAPE PACK PCG11EA1F0 **EACH** 6 1,339.88 8,039.28 BELOW ARE NEW AIRLINES AND FITTINGS FOR CONFINED SPACE MSA-484225 HOSE ASSY, AIRLINE, PVC, 100FT, BRASS FITTINGS **EACH** 12 372.83 4,473,96 MSA-479009 CONNECT AL QK REL CEJN/CH, SOCKET & PLUG FOR **EACH** 145.64 873.84 HOSE INTERCONNECT LENGHT MSA-69542 ADAPTER, UNION, BRS, 1/4NPT M X 3/4HOSE M **EACH** 17.33 69.32 4 CUSTOMER REUSE EXSITING FOSTER PLUGS. ***************** AAW-SV54566117 Posi3 USB,2216-4500-5500, 250 psig EP transducer, **EACH** 11,122.00 11,122.00 Sound detection system (SDS) CD-ROM, SCBA TEST SOFTWARE, POSI 3 USB MSA-10110435 **EACH** 1 1,050.72 1,050.72 ************ BELOW ARE MSA TOOLS FOR REPAIR SHOP MSA-10164448 **G1 REPAIR TOOLS KIT DELUXE EACH** 5,215.21 5,215.21 1 G1 CYL Q-C ADAPTER 4500/5500 PSI MSA-10149702-SP **EACH** 66.20 66.20 MANIFOLD ASSY, TEST, G1, EXTEND-AIRE II 2018 MSA-10202459 **EACH** 1 225.20 225.20 **UEBSS** MSA-10190509 TOOL,G1 QC COUPLER,CLEANING **EACH** 15.44 15.44 1 MSA-MS-122AD MS-122AD dry lubricant. **EACH** 24.13 24.13 MSA-10158407 G1 RFID READER/WRITER **EACH** 610.64 610.64

This Quote is valid until 11/30/21

All returns must be initiated within 30 days of receipt of product and will be charged a restocking fee. Contact your sales representative to receive a Return Materials Authorization (RMA). Special order parts are not returnable. Full terms and conditions for returns can be found on our website at www.ten8fire.com/returns.



IN SERVICE TO SERVE YOU TEN-8 FIRE & SAFETY, LLC 2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203 Phone: 800-228-8368 Fax: 941-756-2598

Sell To:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097

Payment Terms:

Due Upon Receipt of

Product Or Service

Sales Quote

Page: 4

Sales Quote Number:

Q204898

Sales Quote Date:

10/5/2021

Customer ID

NASSAU

SalesPerson

Mitchell Wilkerson mwilkerson@ten8fire.com

Email : Ten-8 Contact

Mitchel Wilkerson

Email:

mwilkerson@Ten8fire.com

Ship To:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097

Ship Via:

Item No.	Description	Unit	Quantity	Selling Pric	Total Price
MSA-10186214	RFID CONTACTLESS READER WRITER, 13.56 MH TO SCAN THE SCBA/KEYBOARD EMULATOR, FOR AIMS SOFTWARE	EACH	1	501.04	501.04
MSA-466008	WRENCH,LOCKNUT VALVE	EACH	1	117.93	117.93
MSA-10197862	UAC/Quick fill coupler tool	EACH	1	60.71	60.71
MSA-482426	CRP-TOOL,EXTR,AUDI-LARM	EACH	1	35.19	35.19
MSA-636060	TOOL DENTAL BURNISHING	EACH	1	123.10	123.10
MSA-633411	SPATULA, PLASTIC, 1 EACH	EACH	1	12.94	12.94
MSA-604070	LUBRICANT,FLUORINATED,CHRISTO-LUBE,2 OZ	EACH	1	133.46	133.46
MSA-28907	TAPE TEFLON , PIPE THREAD SEALING, 1/4"	EACH	1	12.66	12.66
MSA-600920	LIQUID LEAK DETECTOR	EACH	1	53.57	53.57
MSA-10162809	Adhesive, Thread Locker, Loctite, #220 Per 1ML MUST purchase 10ML	EACH	10	6.43	64.30
MSA-29787	SEALANT,LOCTITE 222,50ML BOTTLE	EACH	1	140.69	140.69
MSA-10110981	ADHESIVE, THRDLCK, LOCTITE #243, BLUE 50 ML	EACH	1	64.09	64.09
MSA-10151684	THREAD LOCKER, LOCTITE 263, 50ML	EACH	1	21.19	21.19
MSA-600469	SEALANT THD LOCTITE 290 (50ml)	EACH	1	185.16	185.16
MSA-10009971	MSA Confidence Plus® Germicidal Cleaner, 32 OZ, Min QTY: 2, QTY: Increments: 2	EACH	2	44.84	89.68
	TRADE IN OF EXISTING SCBA FLEET	EACH	94	-100.00	-9,400.00
	IN SERVICE TRAINING INCLUDED AT NO CHARGE.				
	INITIAL FIT TESTING INCLUDED AT NO CHARGE.				

This Quote is valid until 11/30/21

All returns must be initiated within 30 days of receipt of product and will be charged a restocking fee. Contact your sales representative to receive a Return Materials Authorization (RMA). Special order parts are not returnable. Full terms and conditions for returns can be found on our website at www.ten8fire.com/returns.



IN SERVICE TO SERVE YOU TEN-8 FIRE & SAFETY, LLC 2904 59TH AVENUE DRIVE EAST BRADENTON, FL 34203

Phone: 800-228-8368 Fax : 941-756-2598

Sell To:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE YULEE, FL 32097

Payment Terms:

Due Upon Receipt of

Product Or Service

Sales Quote

Page:

Sales Quote Number:

Q204898

Sales Quote Date:

10/5/2021

Customer ID

NASSAU Mitchell Wilkerson

SalesPerson

mwilkerson@ten8fire.com

Email: Ten-8 Contact

Mitchel Wilkerson

Email:

mwilkerson@Ten8fire.com

Ship To:

NASSAU COUNTY FIRE RESCUE 96160 NASSAU PLACE

YULEE, FL 32097

Description

Unit

EACH

EACH

CARE TRAINING TO CERTIFY TWO TECHNITIONS AT

NO CHARGE. LIST PRICE \$950.00

LAKE LAKE2

Item No.

PRICED PER LAKE CO. CONTRACT #17-0606L EXPIRES 06/30/2022

THIS QUOTE MEETS AND EXCEEDS LAKE COUNTY

CONTRACT DISCOUNT

Ship Via:

Quantity

Selling Pric

Total Price

Amount Subject to Sales Tax Amount Exempt from Sales Tax 879,056.34

Subtotal:

879056.34

Invoice Discount: Total Sales Tax: 0.00 0.00

Total:

879,056.34

This Quote is valid until 11/30/21

All returns must be initiated within 30 days of receipt of product and will be charged a restocking fee. Contact your sales representative to receive a Return Materials Authorization (RMA). Special order parts are not returnable. Full terms and conditions for returns can be found on our website at www.ten8fire.com/returns.